Math 2 

Name ___________________

Right Triangle Trigonometry Study Guide

Multiple Choice. 
1. A pole casts a shadow that is 14 ft long. What is the 

length of the pole? 

A) 7



B) 
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2. Find the altitude of an equilateral triangle with a perimeter of 66in. (draw a picture)

3. A tree that is 100 feet tall casts a shadow that is 150 ft long.

Determine the angle at which the rays of the sun hit the ground.

A) 31º
B) 34º
C) 42º
D) 59º
4. For the right triangle at the right, what is the cosine of angle C?

A) 
[image: image5.wmf]12

13




B) 
[image: image6.wmf]13

12

                                      A                    13
C) 
[image: image7.wmf]5

12




D) 
[image: image8.wmf]5

13

                                      12
   







B  
   5            C
5. In the isosceles right triangle, AB = 10 ft. What is the length, in feet, of

AC?





   B
A) 5









B) 10

C) 20


D)
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6. The angle of depression from the top of a lighthouse to a boat in the water is

30º. If the lighthouse is 89 ft tall, how far is the boat from the lighthouse to the 

nearest foot?

A) 51 ft

B) 63 ft

C) 126 ft

D) 154 ft

	
	                                   SIMPLIFY THE FOLLOWING
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Free Response.                                                                           
12.  In a right triangle the sin(Θ)= [image: image22.png]


. What is cos(Θ)? (draw a picture)

Use the right triangle below to answer the questions.

13.  Find the missing side of the right triangle at the right.             B

   AC = _____

14. 
     sin A = ______         sin B = _______                                         11                       61
    cos A = ______        cos B = _______

                                                                                                          C              ?               A
    tan A = ______        tan B = _______                                                           
15. Fill in the blank: cos 38º = ______ 52º

16. Find the length of a side a square whose diagonal is 12 cm.

17. One side of an equilateral triangle measures 36 mm. Find the measure of an altitude of the triangle.

Find the value of missing sides.
18.                                        19.               
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                                  20.                                           21. 

                                                                                                                    22                    ____                               32

14                  ____                                                     _____                                                          ____    
                                                         _____


____                                                                                            _____                                          ____                                

Find the missing side .  Set up your proportion. 

22.                                             23.                            


24.             
         x  

                             9                        x                                                               22                   x                

                                                                    14                                                   
_____ =  ______


_____ =  ______



_____ =  ______

x = _____                                        x = _____       




x = _____     
Find the missing angle.
25. 
             



    B

    26.                E                                            27.     R                                    S 

  
                                                                 22                                                                        15                      8

       25                   17                                                                   

                                                                                                                                                                     T

A                         C                                      D          44           F                    

_____ = _____



_____ = _____



_____ = _____

Angle A = ____  



Angle F = ____    



Angle T = ____     

28. The top of an 18 ft waterslide is 14 ft above the ground. What angle does the slide make with the vertical ladder? 
29. Find the angle of elevation if you are standing 400 ft away and the building is 950 ft tall. 
30. A forest ranger is on a fire lookout in a national forest. His observation position is 220 feet above the ground when he spots an illegal campfire. The angle of depression of the line of sight to the campfire is 12º. How far is the tower from the fire? 
31. The shorter leg of a 30-60-90 triangle is 7.4 meters long. Find the perimeter.                                                                            
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